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Vov adds on to the first concept — PR IV DY om V'

OVERVIEW

The X3 concluded that we can derive the rule that a YXW is 7w by 0°%y22 71HWw
for X" since there is a 1" between the 7w of W"w and X (it states PRw *2Y),
therefore we can derive a X1 from a w"w (and vice versa).
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So now there is no more need for a 1"'? from @' to rule a ®X12 liable for X'3,
since we have the 1", which allows us to derive the laws of X 10w from each other.

SUMMARY
The 1" (of 2xw °27) allows us to derive laws from a w"w to a X1 (and vice versa).

THINKING IT OVER

1. What is gained by saying that now we do not need the 1"p, since we have the
1'"?

2. This answer of WX Py ¥ 70w 1™, is (seemingly) not really necessary, since
it was given only according to the 7"» that 7 1K X7, whose view was only a
X" (since 1"p 7197 X?),? so why is Moo taking this answer so seriously as to say
we do not need the 1"p?!3

! Previously on this Ty we derived the 2vn of a "Xw for X" through a "p from w"w; if a w"w who is MW from
anm aMaw, is nevertheless 21 for 8™, it follows that a PRw who is 21 for 7n» AM2w, should certainly be 21 for
®"3. This 1"p is now superfluous.

2 See previous X371 1"7 'own [TIE footnote # 4].

3 See X"w1n on the 2,7¥ X,
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